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QUESTION 1

Which two are correct processes regarding performing the Benefits Extract setup? 

A. Configure plan carrier details and extract options using the Manage Plan Carriers task. 

B. Extract benefits enrollment information into separate XML files for each plan and plan carrier. 

C. Configure the carrier names for plan types, plans, and option using the Manage Plan Carriers task. 

D. Configure plan carrier details and extract options using the Manage Program Enrollment Requirements task. 

E. Extract benefits enrollment information into a single XML file for each plan carrier. 

Correct Answer: AE 

https://docs.oracle.com/en/cloud/saas/applications-common/r13-update17d/faihm/benefits-data-extract.html#FA 

 

QUESTION 2

Which three are correct methods by which enrollment results can be created and made available for viewing? 

A. when a default enrollment is processed 

B. after the Evaluate Life Events batch process is completed successfully 

C. after the Close Enrollment process has completed 

D. when an electable choice is saved as a part of self-service enrollment 

E. when Enrollment Authorizations are accepted by the participant as a part of self-service enrollment 

Correct Answer: BDE 

 

QUESTION 3

Which two statements are correct with respect to required action in the eligibility profile? 

A. If all profiles are requited, then at least one of the profiles must be satisfied. 

B. If some but not all profiles are required, then all required profiles must be satisfied and at least one optional profile
must also be satisfied. 

C. If all profiles are optional, then at least one of the profiles must be satisfied. 

D. If only one eligibility profile is added to an object, then the criteria in that profile may or may not be satisfied, even if
the Required option is not selected. 

Correct Answer: D 
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QUESTION 4

Your customer wants its employees to submit signed hard copies of confirmation while managing benefits online from
Benefits Self-Set vice. How do you accomplish this requirement? 

A. Select Display Signature in the Confirmation section while managing Benefits Self-Service configuration. 

B. Confirm that the correct self-service category is selected on the Configure Plan Type Grouping Display page for
administrators. 

C. Select the same administrator category on the Edit Plan Type page while managing Benefits Self-Service
configuration. 

D. Confirm that the correct self-service category is selected on the Configure Plan Type Grouping Display page. 

E. Select Display Signature in the Confirmation section while managing Enrollment Authorizations. 

Correct Answer: B 

 

QUESTION 5

Can you define overspending of a budget pool in flex credit shell plans? 

A. Yes, you can define it in the spending options. 

B. Yes, you can define it in the standard rates. 

C. Yes, you can define it as per the flex credit formula. 

D. No, you do not have a place holder. 

Correct Answer: A 

 

QUESTION 6

Which statement about configuring Designation Requirements is true? 

A. A Designation Requirement can be configured for a plan with no option. 

B. A plan must have multiple options for Designation Requirement to be configured. 

C. A plan must have the waive option for Designation Requirement to be configured. 

D. A Designation Requirement cannot be configured for a plan with no option. 

Correct Answer: B 

 

QUESTION 7

Which statement about Waive options is true? 
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A. Waive options are options into which employees ate compulsorily enrolled in case they do not complete the requited
action items like certification, entering date of birth, etc. 

B. Waive options are used so that employees can explicitly decline enrollment opportunities for which they are otherwise
eligible. 

C. Waive options are options which do not require any dependent/beneficiary designation. 

D. Waive options are used when employees do not get an enrollment opportunity because they do not qualify for the
required eligibility criteria. 

Correct Answer: B 

 

QUESTION 8

To which two benefits objects can Year Period be attached to? 

A. Program 

B. Plan Type 

C. Plan 

D. Option 

Correct Answer: BD 

https://docs.oracle.com/cd/E51367_01/globalop_gs/FAIBF/F1420611AN193D6.htm 

 

QUESTION 9

XX Life insurance plan has two options: Option 1 enrolls a dependent of age 21 or above and Option 2 enrolls a
dependent aged 18 or less. How do you define a benefit configuration for these two options? 

A. Create two derived factors, one with age as 21 or above and a second with age 18 or less. Create an eligibility profile
and configure these two derived factors under the eligibility profile. Then attach the eligibility profile to XX Life Insurance
Plan 

B. Create one derived factor. Create an eligibility profile and configure the derived factor under the eligibility profile.
Then attach the eligibility profile to XX Life Insurance plan at Option 1, and then attach the same eligibility profile at
Option 2. 

C. Create one derived factor. Create an eligibility profile and configure the derived factor under the eligibility profile.
Then attach the eligibility profile to XX Life Insurance Plan. 

D. Create two eligibility profiles. One with age as 21 or above and a second with age 18 or less. Then attach these
eligibility profiles to XX Life Insurance Plan. 

Correct Answer: D 

 

QUESTION 10
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A plan is created for a calendar year from January 1, 2017 and ends on December 31, 2017. The company wants to
create an event on the occurrence of life event date. What will be the life event start date? 

A. as of rate start date 

B. as of coverage start date 

C. as of event start date 

D. as of enrollment start date 

Correct Answer: C 

 

QUESTION 11

Your customer decided to use some delivered explicit life events in their business. What is your next step as an HCM
Consultant after defining triggers as per the retirement? 

A. Associate the life events with only flexible benefit programs. 

B. Associate the life events only with benefit plans which are not in a program. 

C. Associate the life events only with benefit plans which are in a program. 

D. Associate the life events with benefit plans or program. 

E. Associate the life events only with Core benefit programs. 

Correct Answer: D 

 

QUESTION 12

A benefits administrator processed an enrollment for one employee, and manually added the life event "XYZ" as of
August 1, 2016. Since there were two more life events in the detected phase as of August 15, 2016, the benefits
administrator 

clicked "Collapse Life Event". Upon processing the life event tab, the benefits administrator received an error saying two
or more life events were in the detected phase. 

Why did the collapsing rule fail? 

A. The number of proximity days was specified as 20. 

B. The number of proximity days was specified as 0. 

C. The life event had expired. 

D. The number of proximity days was specified as 15. 

Correct Answer: D 
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